PHYSICS

BOOKS - PRADEEP PHYSICS
(HINGLISH)

THE HUMAN EYE AND COLOURFUL
WORLD

Solved Problem


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. The far point of a myopic eye is at 50cm.
Calculate the power of the lens to correct his

vision.

o Watch Video Solution

2. (a) The far point of a myopic person is 80cm.
In front of the eye. What is the power of the
lens required to enable him to see very distant
objects clearly ?

(b) In what way does the corrective lens help


https://dl.doubtnut.com/l/_XNzZyJ6hHv6g
https://dl.doubtnut.com/l/_EyYtxA4ZVaJ3

the person above ? Does the lens magnify very
distant objects ? Explain carefully.
(c) The person above prefers to remove his

spectacles while reading a book. Explain why ?

o Watch Video Solution

3. (@) The near point of a hypermetropic
person is at 75cm from the eye. What is the
power of the lens required to enable him to

read clearly a book held at 25¢m from the eye

?


https://dl.doubtnut.com/l/_EyYtxA4ZVaJ3
https://dl.doubtnut.com/l/_pBLbTZOt0TcI

(b) In what way does the corrective lens help
the person above ? Does the lens magnify
objects held near the eye ?

( ¢) The person above prefers to remove his

spectacles while looking at the sky. Explain why

?

o Watch Video Solution

4. A person cannot see the objects distinctly,
when placed at a distance less than 100cm.

What is the power of the spectacles that he


https://dl.doubtnut.com/l/_pBLbTZOt0TcI
https://dl.doubtnut.com/l/_FrCfOZ9LmTQY

should use to see clearly the objects placed at

25¢em ?

o Watch Video Solution

5. (a) A student suffering from myopia is not
able to see distinctly the objects placed
beyond 5m. Two possible reasons due to
which this defect of vision may have arisen.
With the help of ray diagrams, explain :

(1) Why the student is unable to see distinctly

the objects placed beyond 5m from his eyes.


https://dl.doubtnut.com/l/_FrCfOZ9LmTQY
https://dl.doubtnut.com/l/_v5CgBYf5HUWs

(i) The type of corrective lens used to restore
proper vision and how this defect is corrected
by the use of this lens.

(b) If in this case, numerical value of focal
length of corrective lens is 5m, find the power
of the lens as per the new cartesion sign

convention.

o Watch Video Solution

6. A child while playing with his father's

spectacles, burnt a hole in a piece of tissue


https://dl.doubtnut.com/l/_v5CgBYf5HUWs
https://dl.doubtnut.com/l/_3jydKFc21SC2

paper by focussing the image of the sun on
the paper.

(a) Name the defect of vision his father is
suffering from.

(b) List two causes of the defect.

( ¢) Draw a ray diagram to show this defect

may be corrected using a suitable lens.

o Watch Video Solution

7. Nooper needs a lens of power —4.5D for

correction of her vision.


https://dl.doubtnut.com/l/_3jydKFc21SC2
https://dl.doubtnut.com/l/_dWNlChTK0g0H

(a) What kind of defect in vision is she
suffering from ?

(b) What is the focal length and nature of
corrective lens ?

(c) Draw ray diagrams showing the defected
eye and correction for the defect.

(d) What are the causes of this defect ?

o Watch Video Solution

Ncert Question


https://dl.doubtnut.com/l/_dWNlChTK0g0H

1. What is meant by accommodation of the eye

?

° Watch Video Solution

2. A person with a myopic eye cannot see
objects beyond 1.2m distinctly. What should
be the type of corrective lens to restore

proper vision ?

o Watch Video Solution



https://dl.doubtnut.com/l/_G03GZweXSMll
https://dl.doubtnut.com/l/_O3jLYJU7DepS
https://dl.doubtnut.com/l/_K1YUw9xeLHGv

3. What is the far point and near point of the

human eye with normal vision ?

° Watch Video Solution

4. A student has difficulty reading the
blackboard while sitting in the last row. What
could be the defect the child is suffering from?

How can it be corrected?

o Watch Video Solution



https://dl.doubtnut.com/l/_K1YUw9xeLHGv
https://dl.doubtnut.com/l/_rMVEoppzESGo

1. The human eye can focus objects at different
distances by adjusting the focal length of the
eye lens. This is due to

A. presbyopia

B. near sightedness

C. Power of accommodation

D. far - sightedness

Answer: C



https://dl.doubtnut.com/l/_K4FyezKEf5oC

\ o Watch Video Solution

2. The human eye forms the image of an object

at its

A. cornea

B. pupil

C.iris

D. retina

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_K4FyezKEf5oC
https://dl.doubtnut.com/l/_Rzf0qi2JglrG

3. What is the least distance of distinct vision

for a normal eye ? Is it the same as the

distance of near point ?

A.25m

B.25 cm

C.2.5cm

D.25m

Answer: B

| e |


https://dl.doubtnut.com/l/_Rzf0qi2JglrG
https://dl.doubtnut.com/l/_JfkwlMng4vWb

& Watch Video Solution I

4. The change in focal length of an eye lens is

caused by the action of the

A. pupil

B. retina

C.iris

D. ciliary muscles

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JfkwlMng4vWb
https://dl.doubtnut.com/l/_JqcrpC4Woisa

5. A person wears eye glasses with a power of
—5.50D for distance viewing. His doctor
prescribes a correction of +1.5D for his near
vision. What is the focal length of his distance
viewing part of the lens and also for near

vision section of the lens ?

o Watch Video Solution



https://dl.doubtnut.com/l/_JqcrpC4Woisa
https://dl.doubtnut.com/l/_ORGxZ7K4RL5w

6. (a) The far point of a myopic person is 80cm.
In front of the eye. What is the power of the
lens required to enable him to see very distant
objects clearly ?

(b) In what way does the corrective lens help
the person above ? Does the lens magnify very
distant objects ? Explain carefully.

( ¢) The person above prefers to remove his

spectacles while reading a book. Explain why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Pq8AmPfsskYw
https://dl.doubtnut.com/l/_ycNWpWnTx8tn

7. Make a diagram to show how hypermetropia
is corrected. The near point of a
hypermetropic eye is 1lmetre. What is the
power of the lens required to correct this
defect ? Assume that the near point of the

normal eye is 25cm.

o Watch Video Solution

8. Why is normal eye not able to see clearly the

objects placed closer than 25 cm ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ycNWpWnTx8tn
https://dl.doubtnut.com/l/_xN4jNovEkSfi

9. What happens to the image distance in the
eye when we increase the distance of an

object from the eye ?

o Watch Video Solution

10. Why do stars twinkle?

o Watch Video Solution



https://dl.doubtnut.com/l/_xN4jNovEkSfi
https://dl.doubtnut.com/l/_BBwLRPWV7pLi
https://dl.doubtnut.com/l/_xY9V3zlUUaE6

11. Planets do not twinkle.

o Watch Video Solution

12. The sun looks reddish at the time of

sunrise and sunset.

o Watch Video Solution

13. To an astronaut is a spcaceship, the sky

appears



https://dl.doubtnut.com/l/_M7scIZxZVmcX
https://dl.doubtnut.com/l/_XXShQFW7OTGS
https://dl.doubtnut.com/l/_ZpwnW1fmStBL

o Watch Video Solution

Exemplar Short Answer

1. Draw ray diagrams each showing

(1) myopic eye and

(i) hypermetropic eye.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZpwnW1fmStBL
https://dl.doubtnut.com/l/_E0OwtijFYvEo

2. A student sitting at the back of the
classroom cannot read clearly the letters
written on the blackward. What advice will a
doctor give to her ? Draw ray diagram for the

correction of this defect.

o Watch Video Solution

3. How are we able to see nearby and also the

distant objects clearly?

° Watch Video Solution



https://dl.doubtnut.com/l/_S4zapVDvMYkm
https://dl.doubtnut.com/l/_PmmMuuSnj0BM

4. Nooper needs a lens of power —4.5D for
correction of her vision.

(a) What kind of defect in vision is she
suffering from ?

(b) What is the focal length and nature of
corrective lens ?

( ¢) Draw ray diagrams showing the defected
eye and correction for the defect.

(d) What are the causes of this defect ?

o Watch Video Solution



https://dl.doubtnut.com/l/_PmmMuuSnj0BM
https://dl.doubtnut.com/l/_FsTiqO0sUdeI
https://dl.doubtnut.com/l/_cpm2hwqR6As5

5. How will you use two indentical prisms so
that a narrow beam of white light incident on
one prism emerges out of the second prism as

white light ? Draw the diagram.

o Watch Video Solution

6. Draw a ray diagram showing the dispersion
through a prism when a narrow beam of white
light is incident on one of its refracting
surface. Also indicate the order of the colours

of the spectrum obtained.


https://dl.doubtnut.com/l/_cpm2hwqR6As5
https://dl.doubtnut.com/l/_cFcbqwvMz2bk

° Watch Video Solution

7. Is the position of a star as seen by us its

true position? Justify your answer.

o Watch Video Solution

8. Why do we see a rainbow in the sky only

after rainfall?

° Watch Video Solution



https://dl.doubtnut.com/l/_cFcbqwvMz2bk
https://dl.doubtnut.com/l/_La6VvKfFcFXR
https://dl.doubtnut.com/l/_LAOdFNCRAXel
https://dl.doubtnut.com/l/_s0zkYGlIAYG1

9. Why does clear sky appear blue ?

° Watch Video Solution

10. The sun looks reddish at the time of

sunrise and sunset.

o Watch Video Solution

Exemplar Long Answer


https://dl.doubtnut.com/l/_s0zkYGlIAYG1
https://dl.doubtnut.com/l/_eg7W2demOByD

1. Explain the structure and functioning of
Human eye. How are we able to see nearby as

well as distant objects ?

o Watch Video Solution

2. Draw ray diagrams each showing
(1) myopic eye and

(i) hypermetropic eye.

o Watch Video Solution



https://dl.doubtnut.com/l/_F2ITmUepi1tH
https://dl.doubtnut.com/l/_QQHTbzbFFNjc
https://dl.doubtnut.com/l/_DTJhJeme6f5W

3. Explain the refraction of light through a
triangular glass prism using a labelled ray

diagram. Hence define the angle of diviation.

o Watch Video Solution

4.The sun looks reddish at the time of sunrise

and sunset.

° Watch Video Solution



https://dl.doubtnut.com/l/_DTJhJeme6f5W
https://dl.doubtnut.com/l/_U78r2cH7Ay4a

5. Explain the phenomenon of dispersion of
white light through a glass prism, using

suitable ray diagram.

o Watch Video Solution

6. Assertion : The stars twinkle while the
planets do not.
Reason : The stars are much bigger in size

than the planets.

° Watch Video Solution



https://dl.doubtnut.com/l/_ItovgN0nkJy7
https://dl.doubtnut.com/l/_MzBe0W7nrABe

Additional Very Short Answer

1. What is far point of a normal human eye ?

o Watch Video Solution

2. What is the least distance of distinct vision
for a normal eye ? Is it the same as the

distance of near point ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MzBe0W7nrABe
https://dl.doubtnut.com/l/_WMUvK4RlDVsw
https://dl.doubtnut.com/l/_aOxxEF6rg0gX

3. What kind of lens is present in the human

eye ?

o Watch Video Solution

4. Name the screen on which eye forms the

image.

o Watch Video Solution

5.1s cornea transparent to light ?



https://dl.doubtnut.com/l/_K2tV0K9M1C7Y
https://dl.doubtnut.com/l/_20MZhfJzxSLg
https://dl.doubtnut.com/l/_XZDWRnOR41cJ

o Watch Video Solution

6. What is range of vision ?

o Watch Video Solution

7. Which phenomenon of vision is used in

cinematography ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XZDWRnOR41cJ
https://dl.doubtnut.com/l/_zM9dSrFAluqg
https://dl.doubtnut.com/l/_mNhNeFV5UID2

8. What type of cells are lacking in a person

whi is colour blind ?

o Watch Video Solution

9. Which type of retinal cells respond to

brightness of light ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZUGk53Qo5BGe
https://dl.doubtnut.com/l/_t6ff846g2RYY

10. Which defect of vision can be rectified

using a convex lens ?

o Watch Video Solution

11. Which defect of vision can be rectified using

a concave lens ?

o Watch Video Solution



https://dl.doubtnut.com/l/_3mObPZtJWb5U
https://dl.doubtnut.com/l/_dG4Wc3drjh7V

12. When is a person said to have developed
cataract in his eye ? How is the vision of a

person having cataract restored ?

o Watch Video Solution

13. Which defect of the eye can be corrected

using a cylindrical lens ?

° Watch Video Solution



https://dl.doubtnut.com/l/_b0zk4mjymD9j
https://dl.doubtnut.com/l/_7dgUX9PoSueD

14. Which colour has largest wavelength ?

o Watch Video Solution

15. Which colour suffers least deviation on

passing through a prism ?

o Watch Video Solution

16. Name the phenomenon which causes the

twinkling of stars.



https://dl.doubtnut.com/l/_FBiQ81UmuBYX
https://dl.doubtnut.com/l/_Bxr2gOidYTqr
https://dl.doubtnut.com/l/_nEK2yVpKQgEY

o Watch Video Solution

17. Which phenomenon is responsiblefor
increasing the apparent length of the day by 4

minutes ?

o Watch Video Solution

18. Why do stars seem higher than they
actually are ? lllustrate your answer with the

help of a diagram.

| & I


https://dl.doubtnut.com/l/_nEK2yVpKQgEY
https://dl.doubtnut.com/l/_h3T55ySz9o20
https://dl.doubtnut.com/l/_McssPBh06iUm

| ¥ Watch Video Solution |

19. What is persistence of vision ? Give one

example of persistence of vision.

o Watch Video Solution

20. The sun looks reddish at the time of

sunrise and sunset.

o Watch Video Solution



https://dl.doubtnut.com/l/_McssPBh06iUm
https://dl.doubtnut.com/l/_pGJhmRbtNTaa
https://dl.doubtnut.com/l/_iVY1JpuEzetB
https://dl.doubtnut.com/l/_USqbPf6VXQSd

21.(a) Is eye lens made of glass ?

(b) Is focal lengths of eye lens fixed ?

° Watch Video Solution

22. (a) What is aqueous homour ?

(b) What is vitreous humour ?

o Watch Video Solution

23. (a) What is meant by far point of human

eye ?


https://dl.doubtnut.com/l/_USqbPf6VXQSd
https://dl.doubtnut.com/l/_mfQTOFy4gWfs
https://dl.doubtnut.com/l/_SGRfW4CJihN6

(b) What is meant by near point of human eye

?

° Watch Video Solution

24. (a) For a normal eye, what is the least
distance of distinct vision ?
(b) What is the maximum power of

accomodation of a normal eye ?

o Watch Video Solution



https://dl.doubtnut.com/l/_SGRfW4CJihN6
https://dl.doubtnut.com/l/_pSkj7ZVRT3F7

25. (a) Which lens is used for correcting a
mypoic eye ?
(b) Which lens is used for correcting a

hypermetropic eye ?

o Watch Video Solution

26. Why are danger signals red in colour ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KV0CTjequXqq
https://dl.doubtnut.com/l/_gjA9DGupdbyR

27. Why does clear sky appear blue ?

o Watch Video Solution

28. Name the part of our eyes which helps us
to focus near and distant objects in quick

succession.

o Watch Video Solution



https://dl.doubtnut.com/l/_NL4xydlXQvGw
https://dl.doubtnut.com/l/_ouizOyPbJz57

29. To an astronaut is a spcaceship, the sky

appears

o Watch Video Solution

Additional Short Answer

1. Why does it take some time to see objects in

a cinema hall, when we just enter the hall ?

° Watch Video Solution



https://dl.doubtnut.com/l/_T0BZvLelFbg3
https://dl.doubtnut.com/l/_et6QdX25K1Iv
https://dl.doubtnut.com/l/_cNP7uP5G2r1v

2. What is the nature of eye lens ? Is its focal

length fixed ?

o Watch Video Solution

3. What is meant by accommodation of the eye

?

° Watch Video Solution



https://dl.doubtnut.com/l/_cNP7uP5G2r1v
https://dl.doubtnut.com/l/_D9kID08IsBIK

4. Due to gradual weakening of ciliary muscles
and diminishing flexibility of the eye lens, a
certain defect of vision arises. Write the name
of this defect. Name the type of lens required
by such persons to improve the vision. Explain

the structure and function of such a lens.

o Watch Video Solution

5. What is range of vision ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cUOyOh9ZkRo7
https://dl.doubtnut.com/l/_lLxopJcbPhsq

6. (a) For a normal eye, what is the least
distance of distinct vision ?
(b) What is the maximum power of

accomodation of a normal eye ?

o Watch Video Solution

7. Why cannot we read a printed page by

holding it very close to our eyes ?

° Watch Video Solution



https://dl.doubtnut.com/l/_lLxopJcbPhsq
https://dl.doubtnut.com/l/_YKc1A32qFbqd
https://dl.doubtnut.com/l/_NbFovgGyI1mU

8. Draw a simple sketch of human eye and
label any five important constituents of the

eye.

o Watch Video Solution

9. Image of an object at infinity is formed in

front of retina of an eye, as shown in (Fig.


https://dl.doubtnut.com/l/_PvINSLMj0WRB
https://dl.doubtnut.com/l/_gUG7hDGoNO4R

2.24). What is this defect of vision called ?

o Watch Video Solution

10. Image of an object held at near point N is
formed at the back of retina of an eye, as

shown in (Fig. 2.25). What is this defect of


https://dl.doubtnut.com/l/_gUG7hDGoNO4R
https://dl.doubtnut.com/l/_3pu7oemQsLoS

vision called ?

o Watch Video Solution

11. Draw the course of rays for correcting a

myopic eye.

° Watch Video Solution



https://dl.doubtnut.com/l/_3pu7oemQsLoS
https://dl.doubtnut.com/l/_RrOKs4LEx4T1

12. Draw the course of rays for correcting a

hypermetropic eye.

o Watch Video Solution

13. Why has nature given us two eyes instead

of one ?

o Watch Video Solution



https://dl.doubtnut.com/l/_O3zoy4hpzQfK
https://dl.doubtnut.com/l/_bQIRZw818aO7

14. We can see a rainbow on a suuny day by
looking at the sky through a water fountain.

Why ?

o Watch Video Solution

15. (a) Name the factors on which deviation of
a ray of light through a prism depends.
(b) Name the factors on which (angular)

dispersion of light through a prism depends.

° Watch Video Solution



https://dl.doubtnut.com/l/_oxUZkOEaD6r3
https://dl.doubtnut.com/l/_mdlOVOb33WcA

16. (a) What is the order of longest visible
wavelength ? Which colour has it ?
(b) What is the order of shortest visible

wavelength ? Which colour has it ?

o Watch Video Solution

17. (a) What is the frequency of violet colourof
wavelength 40004 ° ?
(b) What is the frequency of red colour of

wavelength 8000A4° ?


https://dl.doubtnut.com/l/_mdlOVOb33WcA
https://dl.doubtnut.com/l/_GQQmNtUhu0ee
https://dl.doubtnut.com/l/_cyNYdFZAZTRJ

° Watch Video Solution

18. (a) Why do spectrum colours recombine on
passing through two prisms oriented duly ?
(b) What is the essential condition for

observing a rainbow ?

o Watch Video Solution

19. (a) Which phenomenon accounts for

advanced sunrise and delayed sunset ?


https://dl.doubtnut.com/l/_cyNYdFZAZTRJ
https://dl.doubtnut.com/l/_M4pCWu2pUl9O
https://dl.doubtnut.com/l/_9LJ01AzHZZZy

(b) Which phenomenon accounts for blue

colour of clear sky ?

° Watch Video Solution

20. (a) What is the essential condition for
Rayleigh scattering ?
(b) In Rayleigh scattering, how is intensity of

scattered light related to wavelength of light ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9LJ01AzHZZZy
https://dl.doubtnut.com/l/_U3rIFkLBaIzu

21. How is the amount of light entering the eye

controlled ?

o Watch Video Solution

22. How do we see colours ?

o Watch Video Solution

23. Why do different colours deviate through

different angles on passing through a prism ?



https://dl.doubtnut.com/l/_yCBMiWomdRd0
https://dl.doubtnut.com/l/_I74NQrGPpuk7
https://dl.doubtnut.com/l/_DbVkMm6bcKZk

o Watch Video Solution

24. Give the meaning of the term VIBGYOR.

With which phenomenon is it connected ?

o Watch Video Solution

25. What is meant by scattering of light ?

o Watch Video Solution



https://dl.doubtnut.com/l/_DbVkMm6bcKZk
https://dl.doubtnut.com/l/_73uZWqTEJHSk
https://dl.doubtnut.com/l/_fyS1GweK7wbY

26. What is the condition for Rayleigh

scattering ?

o Watch Video Solution

27. What is the order of wavelength of visible

light and audible sound?

o Watch Video Solution

28. What is the size of an air molecule ?



https://dl.doubtnut.com/l/_7HE4jIS1NoMF
https://dl.doubtnut.com/l/_v2HaTWi9vvJH
https://dl.doubtnut.com/l/_iMZiuv7yxtx4

o Watch Video Solution

29. Can visible light be scattered by

atmos//molecules in earth's atmosphere ?

o Watch Video Solution

30. What is the basic cause of atmospheric

refraction ?

o Watch Video Solution



https://dl.doubtnut.com/l/_iMZiuv7yxtx4
https://dl.doubtnut.com/l/_a0RVfLKI1RdI
https://dl.doubtnut.com/l/_Zdu3GmW8Ycaa
https://dl.doubtnut.com/l/_kNodO0H7jWVq

31. A narrow beam of white light is shown to
pass through a triangular glass prism. After
passing through the prism, it produces a
specturm XY on a screen.

(a) State the colour seenat X and Y.

(b) Why do different colours of white light
bend through different angles with respect to

the incident beam of light ?



https://dl.doubtnut.com/l/_kNodO0H7jWVq

I O Watch Video Solution

32. In the following diagram, the correctly

marked angles are :

A /A and Ze

B.Zi, /A and /D

C.ZA, Zr and Ze


https://dl.doubtnut.com/l/_kNodO0H7jWVq
https://dl.doubtnut.com/l/_BkACP6jiGmAU

D.ZA, Zr and ZD.

Answer: A

o Watch Video Solution

33. What is the myopia (near sightedness) ?
Draw a ray diagram to show how it can be

corrected using a lens.

o Watch Video Solution



https://dl.doubtnut.com/l/_BkACP6jiGmAU
https://dl.doubtnut.com/l/_Fxv1MTOaXAOK

34. A child while playing with his father's
spectacles, burnt a hole in a piece of tissue
paper by focussing the image of the sun on
the paper.

(a) Name the defect of vision his father is
suffering from.

(b) List two causes of the defect.

( ¢) Draw a ray diagram to show this defect

may be corrected using a suiable lens.

o Watch Video Solution



https://dl.doubtnut.com/l/_jdqmS7GPLFeG
https://dl.doubtnut.com/l/_AiMjfVyGZ8Et

35. Draw a block diagram of human eye and

name all its important parts.

° Watch Video Solution

36. How does eye view different colours ? What

is colour blindness ?

o Watch Video Solution

37. Assertion : The stars twinkle while the

planets do not.


https://dl.doubtnut.com/l/_AiMjfVyGZ8Et
https://dl.doubtnut.com/l/_YpcbuxNKHv1v
https://dl.doubtnut.com/l/_OxskMFjsUMNK

Reason : The stars are much bigger in size

than the planets.

° Watch Video Solution

38. Draw a labelled diagram of human eye.
What is power of accomodation of eye ? Define

colour blindness.

° Watch Video Solution



https://dl.doubtnut.com/l/_OxskMFjsUMNK
https://dl.doubtnut.com/l/_5Rg6EmR8hS17

39. (a) Draw a diagram to show the formation
of image of a distant object by a myopic eye.
How can such an eye defect be remedied ?

(b) State two reasons due to which this eye
defect may be caused.

( ) A person with myopic eye cannot see
objects beyond a distance of 1.5m. What
would be the power of the corrective lens

used to restore proper vision ?

o Watch Video Solution



https://dl.doubtnut.com/l/_OSYdPcTiX73O
https://dl.doubtnut.com/l/_e9O4vdw5zmDn

40. Draw the path of light ray passing through
a prism. Label angle of incidence and angle of

deviation in the ray diagram.

o Watch Video Solution

41. The far point of a myopic person is 6metre.
Calculate the power of the lens he requires for

distant vision.

o Watch Video Solution



https://dl.doubtnut.com/l/_e9O4vdw5zmDn
https://dl.doubtnut.com/l/_oyhwOucq4aZQ

42. A myopic person is using spectacles of
power —1.5D for distant vision. How far can

he see distincltly without specs ?

o Watch Video Solution

43. The near point of a defective eye is 25cm
from the eye. Calculate focal length of the lens

required by her to read a book placed at 20cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_6mRNvKz0PGkh
https://dl.doubtnut.com/l/_dQMm4Pb2DH5A
https://dl.doubtnut.com/l/_R52N2G8q4WxP

44. The distance of distinct vision of a person
is 40cm. Calcuate the power of the lens he
should use to read newspaper at a distance of

25¢cm.

o Watch Video Solution

45, Study the following ray diagram:
In this diagram, the angle of incidence, the

angle of emergence and the angle of deviation


https://dl.doubtnut.com/l/_R52N2G8q4WxP
https://dl.doubtnut.com/l/_BwHpYSvLeU3B

respectively have been represented by .

o Watch Video Solution

Additional Long Answer

1. Write the help of a well labelled diagram,

explain the construction and working of the


https://dl.doubtnut.com/l/_BwHpYSvLeU3B
https://dl.doubtnut.com/l/_zURl6bmEyz3t

human eye .

o Watch Video Solution

2. What is meant by accommodation of the eye

?

° Watch Video Solution

3. With the help of ciliary muscles the human
eye can change its curvature and thus alter

the focal length of its lens. State the changes


https://dl.doubtnut.com/l/_zURl6bmEyz3t
https://dl.doubtnut.com/l/_DDSWsqKcBWQU
https://dl.doubtnut.com/l/_S24Tr5Nogcy3

that occur in the curvature and focal length of
the eye lens while viewing

(a) a distance object,

(b) nearby objects.

Explain, why a normal eye is not able to see
distincly the objects placed closer than 25 cm,

without putting any strain on the eye.

o Watch Video Solution

4. What happens to the image distance in the

eye when we increase the distance of an


https://dl.doubtnut.com/l/_S24Tr5Nogcy3
https://dl.doubtnut.com/l/_1je1M60MDZoe

object from the eye ?

o Watch Video Solution

5. (a) A student suffering from myopia is not
able to see distinctly the objects placed
beyond 5m. Two possible reasons due to
which this defect of vision may have arisen.
With the help of ray diagrams, explain :

(1) Why the student is unable to see distinctly
the objects placed beyond 5m from his eyes.

(i) The type of corrective lens used to restore


https://dl.doubtnut.com/l/_1je1M60MDZoe
https://dl.doubtnut.com/l/_thonQGZpXfnS

proper vision and how this defect is corrected
by the use of this lens.

(b) If in this case, numerical value of focal
length of corrective lens is 5m, find the power
of the lens as per the new cartesion sign

convention.

o Watch Video Solution

6. What is meant by dispersion of white light ?
Describe the formation of rainbow in the sky

with the help of a diagram.


https://dl.doubtnut.com/l/_thonQGZpXfnS
https://dl.doubtnut.com/l/_xtPFnigoyC3X

(b) What is hypermetropia ? Draw ray
diagrams to show the image formation of an
object by

(i) hypermetropic eye

(i) correction made with a suitable lens for

hypermetric eye.

° View Text Solution

7. Explain the phenomenon of dispersion of
white light through a glass prism, using

suitable ray diagram.

| e |


https://dl.doubtnut.com/l/_xtPFnigoyC3X
https://dl.doubtnut.com/l/_8L4ZbqqyF7l1

& Watch Video Solution I

8. (a) Give reasons for the folowing :

(1) Colour of the clear sky is blue.

(ii) The sun be seen about two minutes before
actual sunrise.

(i) We cannot see an object see an object
clearly if it is placed very close to the eyes.

(b) What is presbyopia ? Write two causes of

this defect.

° View Text Solution



https://dl.doubtnut.com/l/_8L4ZbqqyF7l1
https://dl.doubtnut.com/l/_CKDmk0Ljw1gm
https://dl.doubtnut.com/l/_UyAqyGx8fI77

9. (a) A student suffering from myopia is not
able to see distinctly the objects placed
beyond 5m. Two possible reasons due to
which this defect of vision may have arisen.
With the help of ray diagrams, explain :

(1) Why the student is unable to see distinctly
the objects placed beyond 5m from his eyes.
(i) The type of corrective lens used to restore
proper vision and how this defect is corrected
by the use of this lens.

(b) If in this case, numerical value of focal

length of corrective lens is 5m, find the power


https://dl.doubtnut.com/l/_UyAqyGx8fI77

of the lens as per the new cartesion sign

convention.

° Watch Video Solution

10. Explain the phenomenon of dispersion of
white light through a glass prism, using

suitable ray diagram.

° Watch Video Solution

Based Short Answer



https://dl.doubtnut.com/l/_UyAqyGx8fI77
https://dl.doubtnut.com/l/_p53gTf5eu8Kl
https://dl.doubtnut.com/l/_nHUBi5hs1uWZ

1. How many surfaces does a glass prism have

?

o Watch Video Solution

2.What is angle of prism ? What is its value in

an equilateral prism ?

° Watch Video Solution



https://dl.doubtnut.com/l/_nHUBi5hs1uWZ
https://dl.doubtnut.com/l/_LrtHGs0ELRvk

3. How many refractions does a ray of light

suffer on passing through a glass prism ?

o Watch Video Solution

4. Which phenomena can you study using a

glass prisms ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ftb6XU66tYnW
https://dl.doubtnut.com/l/_lj57Jv9gfLD0

5. Draw the course of rays through a glass

prism ABC.

o Watch Video Solution

6. In (Fig. 2.30)., name the incident ray,

refracted ray and emergent ray.

o View Text Solution



https://dl.doubtnut.com/l/_xoGOugA0o4ot
https://dl.doubtnut.com/l/_lMjlVTCCthuC

7. In (Fig. 2.30), locate the angle of prism and

angle of deviation.

° View Text Solution

8 If A is angle of prism, D is angle of
deviation, ¢ is angle of incidence and e angle
of emergence,then what is the correct relation

between them ?

o Watch Video Solution



https://dl.doubtnut.com/l/_G1fDBGLlYqXr
https://dl.doubtnut.com/l/_4K6oW2NGDWOe
https://dl.doubtnut.com/l/_14h4ySu8DDQZ

9. What is the condition for minimum
deviation through then prism ? What is prism

formula ?

o Watch Video Solution

10. Explain the phenomenon of dispersion of
white light through a glass prism, using

suitable ray diagram.

o Watch Video Solution



https://dl.doubtnut.com/l/_14h4ySu8DDQZ
https://dl.doubtnut.com/l/_K234XVpf5p2n
https://dl.doubtnut.com/l/_wweEV5g2wgZg

1. Which colour deviates (i) most (ii) least on

passing through a prism ?

° Watch Video Solution

Higher Order Thinking

1. Does short sightedness (myopia) or long
sightedness (hypermetropia) imply necessarily
that the eye has partially lost its ability of
accomodation ? If not, what might cause these

defects of vision ?



https://dl.doubtnut.com/l/_wweEV5g2wgZg
https://dl.doubtnut.com/l/_76LCEIYF1k1L

Watch Video Solution

2. A man with normal near point (25 cm) reads
a book with small print using a magnifying
glass : a thin convex lens of focal length 5cm.
(a) What are the closest and the farthest
distances at which he can read the book when
viewing through the magnifying glass ?

(b) What is the maximum and the minimum
angular magnifications (magnifying powers)

possible using the above simple microscope ?

° Watch Video Solution



https://dl.doubtnut.com/l/_76LCEIYF1k1L
https://dl.doubtnut.com/l/_R19JamOEET9p

3. For a normal eye, the cornea of eye provides
a converging power of 40D and the least
converging power of the eye lens behind the
cornea is 20D. Using this information, the
distance between the retina and the cornea

eye lens can be estimated to be

° Watch Video Solution



https://dl.doubtnut.com/l/_R19JamOEET9p
https://dl.doubtnut.com/l/_AJLNGqSBxxRD

4. What happens to the image distance in the
eye when we increase the distance of an

object from the eye ?

o Watch Video Solution

5. A person has normal vision, but he cannot

distinguish between red-green colours. Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Wm5wmoYu3387
https://dl.doubtnut.com/l/_JSUM1fbed2kV

6. What are the important features of visual

system of a person ?

o Watch Video Solution

Value Based Question

1. Dolly and Ritu are two friends studying
together in V' grade. They prefer to sit
together. Dolly is uncomfortable in reading

the blackboard when they are sitting on the


https://dl.doubtnut.com/l/_KkeUnN4V25eZ
https://dl.doubtnut.com/l/_d4MCJeq64f0q

last bench. Dolly is depressed fearing that they
may turn blind one day. Ritu explains to her
that the problem may be due to some minor
eye defect and there is no cause for worry.
Dolly accompanied by Ritu visits the doctor
who prescribes specs of suitable power for
her. Dolly is now all smiles and thanks Ritu.
Read the above passage and answer the
following questions :

(i) Name the eye defect Dolly is suffering from.
(i) What could be the cause of this defect ?
(iii) The far point of Dolly is 50cm. What is the

power of the lens she should use to read from


https://dl.doubtnut.com/l/_d4MCJeq64f0q

the blackboard ?

(iv) What values are displayed by Ritu ?

o Watch Video Solution

2. Saniya and Shikha are friends studying
together in grade IV. While Saniya can read a
book keeping it at normal distance of about
25cm, Shikha has to keep the book at about
50cm from her eyes. Shikha feels it is a natural
defect of her eyes, which cannot be corrected.

Saniya is smarter. She tells her that medical


https://dl.doubtnut.com/l/_d4MCJeq64f0q
https://dl.doubtnut.com/l/_xCaHKknwPIjC

science is advanced and there must be
treatment for this problem. The doctor, on
checking, prescribes spectacles of suitable
power to Shikha and her vision with glasses
becomes normal.

What the above passage and answer the
following quentions :

(i) What defect was there in the vision of
Shikha ?

(i) What could be the causes of this defect ?
(i) Calculate nature and power of the lens
prescribed by the doctor. Assume that Shikha

can read the book from a distance of 25cm,


https://dl.doubtnut.com/l/_xCaHKknwPIjC

which she could do from a distance of 50cm
without glasses.
(iv) What are the values of life displayed by

Saniya ?]

o Watch Video Solution

3. Physics teacher was explaning to his
students in class that our eyes can live even
after our death. He told them that by donating
our eyes after we die, one pair of our eyes can

give vision to two corneal blind people. Eye


https://dl.doubtnut.com/l/_xCaHKknwPIjC
https://dl.doubtnut.com/l/_lk3iKMcjPeE9

donors may being to any sex or any age group.
People suffering from diabetes, hypertension,
asthma or any other non-communicable
disease can donate eyes. Eye Banks have been
established for this purpose, where you can
pledge to donate your eye after your death.
Read the above passage and answer the
following questions :

(i) Can people who have been using spectacles
or those who have been operated for cataract
donate their eyes ?

(ii) Why is the pledge necessary ?


https://dl.doubtnut.com/l/_lk3iKMcjPeE9

(iii) Do you intend to make such a pledge ?

Why ?

o Watch Video Solution

4. A narrow beam of white light is shown to
pass through a triangular glass prism. After
passing through the prism, it produces a
specturm XY on a screen.

(a) State the colour seenat X and Y.

(b) Why do different colours of white light

bend through different angles with respect to


https://dl.doubtnut.com/l/_lk3iKMcjPeE9
https://dl.doubtnut.com/l/_wmuHmkQz5MaA

the incident beam of light ?

° Watch Video Solution

Problem For Practice

1. The far point of a myopic person is 150cm in

front of the eye. Calculate the focal length and


https://dl.doubtnut.com/l/_wmuHmkQz5MaA
https://dl.doubtnut.com/l/_6UpRHmQa30K3

power of a lens required to enable him to see

distant objects clearly.

O Watch Video Solution

2. A certain person can see clearly objects lying
between 20cm and 250cm from his eye. What
spectacles are required to enable him to see
distant objects clearly ? When he is wearing
these spectacles, what is his least distance of

distinct vision ?

° Watch Video Solution



https://dl.doubtnut.com/l/_6UpRHmQa30K3
https://dl.doubtnut.com/l/_amkX5HxcjELE

3. A person can see the objects lying between
25¢m and 10m from his eye. His vision can be
corrected by using lens of power —0.1D. Is

the statement true of false ?

° Watch Video Solution

4.The distance of distinct vision of a person is
40cm. Calcuate the power of the lens he
should use to read newspaper at a distance of

25cm.


https://dl.doubtnut.com/l/_amkX5HxcjELE
https://dl.doubtnut.com/l/_nHWEF0wSsUo1
https://dl.doubtnut.com/l/_5Gv2mY9Hndjb

° Watch Video Solution

5. A person wants to read a book placed at
20cm, whereas near point of his eye is 30cm.

Calculate the power of the lens required.

° Watch Video Solution

6. The far point of a myopic person is 6metre.
Calculate the power of the lens he requires for

distant vision.

| |


https://dl.doubtnut.com/l/_5Gv2mY9Hndjb
https://dl.doubtnut.com/l/_BPsJ1qlHqC9S
https://dl.doubtnut.com/l/_17cxXE2CshBs

& Wwatch Video Solution I

7. A myopic person is using spectacles of
power —1.5D for distant vision. How far can

he see distincltly without specs ?

° Watch Video Solution

8. The near point of a hypermetropic eye is
50cm. Calculate the power of the lens to

enable him to read a book at 40cm ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_17cxXE2CshBs
https://dl.doubtnut.com/l/_CAmq7iuBMnxB
https://dl.doubtnut.com/l/_7jEDTVVbOYll

Exemplar Multiple Choice

1. A person with a myopic eye cannot see
objects beyond 1.2m distinctly. What should
be the type of corrective lens used to restore
proper vision ?

A.40.5D

B.—0.5D

C.+0.2D


https://dl.doubtnut.com/l/_7jEDTVVbOYll
https://dl.doubtnut.com/l/_So41YuLjl8wl

D. —0.2D

Answer: B

° Watch Video Solution

2. A student sitting on the last bench can read
the letters written on the blackboard but is
not able to read the letters written in his text
book. Which of the following statements is

correct ?


https://dl.doubtnut.com/l/_So41YuLjl8wl
https://dl.doubtnut.com/l/_YxvcQexKHG8q

A.The near point of his eyes has receded

away

B.The near point of his eyes has come

closer to him

C. The far point of his eyes has come closer

to him

D.The far point of his eyes has receded

away.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YxvcQexKHG8q

3. A prism ABC (with BC as base) is placed in
different orientations. A narrow beam of white
light is incident on the prism as shown in
(igure 2.21) In which of the following cases,

after dispersion, the third colour from the top


https://dl.doubtnut.com/l/_YxvcQexKHG8q
https://dl.doubtnut.com/l/_c8znVrER1V3m

corresponds to the colour of the sky ?

AN

(")

C C
A
A /
ay B B (V)

B. (i1)

C. (i)

D. (iv)


https://dl.doubtnut.com/l/_c8znVrER1V3m

Answer: B

o Watch Video Solution

4. At noon, the sun appears white as.

A. light is least scattered

B.all the colours of white light are

scattered away

C. blue colour is scatterd the most

D. red colour is scattered the most.


https://dl.doubtnut.com/l/_c8znVrER1V3m
https://dl.doubtnut.com/l/_F5bDhvTccRJg

Answer: A

o Watch Video Solution

5. Which of the following phenomena of light

are involved in the formation of a rainbow ?

A. Reflection, refraction and dispersion

B. Refraction, dispersion and total internal

reflection


https://dl.doubtnut.com/l/_F5bDhvTccRJg
https://dl.doubtnut.com/l/_QKy1OWLvrTDw

C. Refraction, dispersion and internal

reflection

D. Dispersion, scattering and total internal

reflection.

Answer: C

o Watch Video Solution

6. Twinkling of stars is due to atmospheric

A.dispersion of light by water droplets


https://dl.doubtnut.com/l/_QKy1OWLvrTDw
https://dl.doubtnut.com/l/_4FSZqh5ljQD9

B. refraction of light by different layers of

varying refraction indices

C. scattering of light by dust particles

D. internal reflection of light by clouds.

Answer: B

o Watch Video Solution

7.Why does clear sky appear blue ?


https://dl.doubtnut.com/l/_4FSZqh5ljQD9
https://dl.doubtnut.com/l/_d4igpJsHlBxA

A.blue light gets absorbed in the

atmosphere

B. ultraviolet radiations are absorbed in

the atmosphere

C.violet and blue lights get scattered more

than light of all other colours by the

atmosphere

D.light of all other colours is scattered

more than the violet and blue colour

lights by the atmosphere.


https://dl.doubtnut.com/l/_d4igpJsHlBxA

Answer: C

° Watch Video Solution

8. Which of the following statements is correct

regarding the propagation of light of different

colours of white light in air?

A. Red light moves fastest

B. Blue light moves faster than green light

C. All the colours of the white light move

with the same speed.


https://dl.doubtnut.com/l/_d4igpJsHlBxA
https://dl.doubtnut.com/l/_VAOdOZgIGtyo

D. Yellow light moves with the mean speed

as that of the red and the violet light.

Answer: C

o Watch Video Solution

9. Why are danger signals red in colour ?

A. is scattered the most by smoke or fog

B. is scattered the least by smoke or fog

C.is absorbed the most by smoke or fog


https://dl.doubtnut.com/l/_VAOdOZgIGtyo
https://dl.doubtnut.com/l/_dkVe9Ba5qWoD

D. moves fastest in air.

Answer: B

° Watch Video Solution

10. Which of the following phenomena

contributes significantly to the reddish

appearance of the sun at sunrise or sunset?

A. Dispersion of light

B. Scattering of light


https://dl.doubtnut.com/l/_dkVe9Ba5qWoD
https://dl.doubtnut.com/l/_4SAOsmo5SfEW

C. Total internal reflection of light

D. Reflection of light from the earth

Answer: B

o Watch Video Solution

11. Blue colour of water in sea is due to

A. the presence of angae and other plants

found in water

B. reflection of sky in water


https://dl.doubtnut.com/l/_4SAOsmo5SfEW
https://dl.doubtnut.com/l/_OOc5TGtoX6yx

C. scattering of light

D. absorption of light by the sea.

Answer: C

o Watch Video Solution

12. When light rays enter the eye, most of the

refraction occurs at the

A. crystalline lens

B. outer surface of the cornea


https://dl.doubtnut.com/l/_OOc5TGtoX6yx
https://dl.doubtnut.com/l/_KQoIThYN3B5h

C.iris

D. pupil

Answer: B

o Watch Video Solution

13. The focal length of the eye lens increases

when eye muscles

A. are relaxed and lens becomes thinner

B. contract and lens becomes thicker


https://dl.doubtnut.com/l/_KQoIThYN3B5h
https://dl.doubtnut.com/l/_FzL0IPB0AYYE

C. are relaxed and lens becomes thicker

D. contract and lens becomes thinner.

Answer: A

o Watch Video Solution

14. Which of the folowing statement is correct

?

A. A person with myopia can see distant

objects clearly


https://dl.doubtnut.com/l/_FzL0IPB0AYYE
https://dl.doubtnut.com/l/_U7mNbEV9qCSK

B.A person with hypermetropia can see

nearby objects clearly

C.A person with myopia can see nearby

objects clearly

D. A person with hypermetropia cannot see

distant objects clearly.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_U7mNbEV9qCSK

Mock Test Sec A

1. Human eye has a light sensitive screen on

which images are formed. What is this screen

called ?

° Watch Video Solution

2. What is range of vision ?

° Watch Video Solution



https://dl.doubtnut.com/l/_9SyKRHhgRuFZ
https://dl.doubtnut.com/l/_RYK76YGqAEn4
https://dl.doubtnut.com/l/_oDuo9m9gBpoA

3. (@) For a normal eye, what is the least
distance of distinct vision ?
(b) What is the maximum power of

accomodation of a normal eye ?

o Watch Video Solution

4. To an astronaut is a spcaceship, the sky

appears

o Watch Video Solution



https://dl.doubtnut.com/l/_oDuo9m9gBpoA
https://dl.doubtnut.com/l/_ewMFLka1T8mJ

5. Explain briefly what is meant by presistence

of vision.

° Watch Video Solution

6. A person with a myopic eye cannot see
objects beyond 1.2m distinctly. What should
be the type of corrective lens to restore

proper vision ?

o Watch Video Solution



https://dl.doubtnut.com/l/_S90BBekc3325
https://dl.doubtnut.com/l/_mzd45qeETGI3
https://dl.doubtnut.com/l/_OmVDmMLJVCgb

7.The near point of a hypermetropic person is
50cm from the eye. What is the power of the
lens required to enable him to read clearly a

book held at 25cm from the eye ?

° Watch Video Solution

8. The sun looks reddish at the time of sunrise

and sunset.

o Watch Video Solution



https://dl.doubtnut.com/l/_OmVDmMLJVCgb
https://dl.doubtnut.com/l/_gt0ZIAco11ZU
https://dl.doubtnut.com/l/_phtyvaVnWbFC

9. The near point of a person has shifted from
25cm — 7bem. Name the optical defect his
eye is suffering from. Draw the course of rays

for the normal eye and defective eye.

° Watch Video Solution

10. What is meant by accommodation of the

eye ?

o Watch Video Solution



https://dl.doubtnut.com/l/_phtyvaVnWbFC
https://dl.doubtnut.com/l/_e5xFTyveCFmK

1. Explain the phenomenon of dispersion of
white light through a glass prism, using

suitable ray diagram.

o Watch Video Solution

12 What is the difference between
monochromatic light and polychromatic light

? Give one example of each.

o Watch Video Solution



https://dl.doubtnut.com/l/_7uZ9jr3SF88H
https://dl.doubtnut.com/l/_tzEdpsRzWbJh
https://dl.doubtnut.com/l/_vEl8zWv5Smaw

13. What is visible spectrum ? How do we
classify it as pure specturm and an impure

spectrum ?

o Watch Video Solution

14. What is cataract ? How is it corrected ?

o Watch Video Solution



https://dl.doubtnut.com/l/_vEl8zWv5Smaw
https://dl.doubtnut.com/l/_EnT2Y0WE9RgA

15. The sun appears oval at sunrise and sunset,

but appears circular at noon. Why ?

° Watch Video Solution

16. (a) Why do spectrum colours recombine on
passing through two prisms oriented duly ?
(b) What is the essential condition for

observing a rainbow ?

o Watch Video Solution



https://dl.doubtnut.com/l/_yW87CMaPM8p2
https://dl.doubtnut.com/l/_Qs4vKTPXY6E8
https://dl.doubtnut.com/l/_IcScOgtRxRsG

17. A child while playing with his father's
spectacles, burnt a hole in a piece of tissue
paper by focussing the image of the sun on
the paper.

(a) Name the defect of vision his father is
suffering from.

(b) List two causes of the defect.

( ¢) Draw a ray diagram to show this defect

may be corrected using a suiable lens.

o Watch Video Solution



https://dl.doubtnut.com/l/_IcScOgtRxRsG

18. What is the myopia (near sightedness) ?
Draw a ray diagram to show how it can be

corrected using a lens.

o Watch Video Solution

19. (a) What are bifocal lenses ? When are they
required to be used ?

(b) What is presbiopia ? Discuss briefly.

o Watch Video Solution



https://dl.doubtnut.com/l/_K616tr97vCej
https://dl.doubtnut.com/l/_5ImwFxsiMYwG
https://dl.doubtnut.com/l/_Rae3LwujFOBI

20. Give one example of dispersion of sunlight
in nature. Draw course of rays for the
formation of primary rainbow. What is the

essential condition for observing a rainbow ?

o Watch Video Solution

Mock Test Sec B

1. On what factors does of deviation produced

by a prism depend ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_Rae3LwujFOBI
https://dl.doubtnut.com/l/_0NUREz4AUIS0

2. A ray of light falls on one face of an
equilateral prism at an angle of 40° and
emerges out at an angole of 37° What is the

angle of deviation through the prism ?

° Watch Video Solution

3. A ray of light is incident on one face of
prism making an angle of 50° with the face. If

emergent ray from the prism is made to


https://dl.doubtnut.com/l/_0NUREz4AUIS0
https://dl.doubtnut.com/l/_uKKKJf0txo25
https://dl.doubtnut.com/l/_rtmEAB44856O

retrace its path, what would be the angle of

emergence ?

° Watch Video Solution

4. In the minimum deviation position of a
prism how are angle of incidence and angle of

emergence related ?

° Watch Video Solution



https://dl.doubtnut.com/l/_rtmEAB44856O
https://dl.doubtnut.com/l/_34vf0F5S1BHP

5. In the minimum deviation position of an
equilateral prism, angle of deviation is 30°.
What are angle of incidence and angle of

refraction ?

o Watch Video Solution

6. A narrow beam of white light is shown to
pass through a triangular glass prism. After
passing through the prism, it produces a

specturm XY on a screen.


https://dl.doubtnut.com/l/_jVPyd5DgyNzt
https://dl.doubtnut.com/l/_h9hNaJimvPYe

(a) State the colour seen at X and Y.
(b) Why do different colours of white light
bend through different angles with respect to

the incident beam of light ?

o Watch Video Solution



https://dl.doubtnut.com/l/_h9hNaJimvPYe

